SA: S8
|
s

M ZojoI=X S
CHol: EOJOIME O KR (o a2
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
=X /48 48,429,346 41,319,712 7,109,634
= 22,694,136
s 7,000
J| 83,820
= 2,391,395
& 6,702,399
Al 16,550,596
ZU=EXSE 5,216,277 5,049,252 167,025
= 2,445,865
= 448,895
& 824,700
Al 1,496,817
ZOoHol Mot X & 2,568,709 3,063,409 A 494,700
= 1,770,774
& 398,967
Al 398,968
=g 2,165,922 2,767,674 A601,752
= 1,516, 146
& 324,888
Al 324,888
307 2IZtol& 2,165,922 2,767,674 A601,752
= 1,516,146
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0
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e CERI(BIH) - NIRAY - A S o e =

307 212t01 & = 324,888
Al 324,888

01 ozYRZH| 2,165,922 2,767,674 601,752
O =202 XA 2,165,922
O Hof==<X 868, 105& * 2,495 2,165,922
= 1,516, 146
& 324,888
Al 324,888

FfotsRL+H 134,899 114,028 20,871
= 94,429
& 20,235
Al 20,235

307 2I2t01 & 134,899 114,028 20,871
= 94,429
& 20,235
Al 20,235

01 AZE A=Y 134,899 114,028 20,871
O = 02X AY 134,899
O Zelots 2L=< X2 1,983,808& * 68Y 134,899
= 94,429
= 20,235
Al 20,235

(RIDNJER=iga] 6,058 5,031 1,027
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o
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CERI(BIH) - NIRAY - A S Akl e =

ZHOH O X+ &t | = 4,846
& 606
Al 606

307 6,058 5,031 1,027
= 4,846
& 606
Al 606

01 6,058 5,031 1,027
O 202 XAY 6,058
1,211,600& = 5% 6,058
= 4,846
= 606
Al 606

Foielez 62,090 146,368 A84,278
= 49,672
& 6,209
Al 6,209

307 62,090 146,368 N84,278
= 49,672
& 6,209
Al 6,209

01 dz¥+z 62,090 146, 368 184,278
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M ZojoI=X S
CHel: ZOHOIM B O X & (sl &2
S HH - S(BH) - HEAY - BE=2 Off &+ o4 a%ggi; HRZ2
0 2DEFAL 62,090
O F0HeIo 2y X & 235, 18971 * 264% 62,090
2 49,672
= 6,209
Al 6,209
ZOHUSHT Y N 12,936 0 12,936
2 10,348
= 1,204
Al 1,204
307 212401 H 2,936 0 12,936
2 10,348
= 1,294
Al 1,204
NEEEEEET 2,936 0 12,936
[ 2DEFAM 12,936
O HHUBET 7Y X 12,936,008 * 14] 12,936
2 10,348
= 1,294
Al 1,204
N ECESE 6,430 0,012 A3,582
2 5,146
= 642




A SX?4n
JH: HOHA=K
|

Chol: AONOIMEOIN K| 2 EEE-E)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
ZOHI B2 XD 2 Al 642
307 2Z2t0lH 6,430 10,012 A 3,582
= 5,146
= 642
Al 642
01 A2 E =Y 6,430 10,012 A3,582
O =02 XAY 6,430
O ZIHEERIFWR 105,409& * 619 6,430
= 5,146
[ 642
Al 642
ZOH 2l S S &Il 1,296 1,296 0
2 648
& 324
Al 324
307 2I2t01 & 1,296 1,296 0
= 648
& 324
Al 324
01 gL =H| 1,296 1,296 0
0 202 XAY 1,296
O ZsE8sy XA 16,615& * 78%H 1,296
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M ZojoI=X S
CHol: EOJOIME O KR (o a2
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
= 648
T 324
Al 324
SHEHOOIFEORZTALS 19,000 19,000 0
= 9,500
& 4,750
Al 4,750
402 QI2EXE20lN 19,000 19,000 0
= 9,500
& 4,750
Al 4,750
01 Q22 EX 19,000 19,000 0
[0 202 XA 19,000
O sHESEHOOIFEINZAIS 3,800,000& = 5 19,000
= 9,500
& 4,750
Al 4,750
SoHelsX Ll X 71,158 0 71,158
= 35,579
= 17,789
Al 17,790
101 ol 21| 71,158 0 71,158




A SX?4n
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Ha: FHOI=SNSH
CHol: X OHOI A B oL X| & (cho|: 72
SN EHH.C(E) - NHEAY - BYS Ofl &F o8 (ﬁg;ﬁ; HRE2
101 1248l = 35,579
= 7,789
Al 17,790
10 JRAM2ENER S 71,158 0 71,158
0 2D28XAY 71,158
O HojeI=XLR2l X 71,158
o1 21| 200,000 * 47 * 7S 65,800
= 35,579
= 17,789
Al 12,432
CEE] 5,358,0008 * 14! 5,358
DOfQIFQME C20| XY 83,920 0 83,920
= 44,460
= 22,230
Al 22,230
101 Q12| 82,080 0 82,080
=2 41,040
= 20,520
Al 20,520
10 JRAM2ERNER S 82,080 0 82,080
0 2D2XAY 82,080
O HOQIFHME T201 N 82,080
o121 855,009 * 8Y « 122 82,080




SA: S8
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HH: BOHR=NSH
ol ROOIME O K| (B9 @8
SA-BH . (BH) - HIRAY - BES Ofl &k o a%ggi; HDnz2
2 41,040
= 20,520
Al 20,520
206 TR 6,840 0 6,840
= 3,420
= 1,710
Al 1,710
01 Ml 6,840 0 6,840
0 2D2EAY 6,840
O FOHQILR2IAY TR 6,840,008 * 14! 6,840
2 3,420
= 1,710
Al 1,710
B OHOIAI & 2| 1,272,095 1,232,095 40,000
2 424,895
= 222,916
Al 624,284
BOHQIFEALSAE2Y(012) 160,000 140,000 20,000
= 38,736
Al 121,264
307 LI2tOIF 160,000 140,000 20,000
= 38,736




FA:
X XH .
o Tt

o2l

S X240

ZOHAANIEZE X E

m
40
E
{0

SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2

307 212t01 & Al 121,264

02 QItFAE X 160,000 140,000 20,000
O SHIEXAY 160,000
O HOHUF=2AESAIE2H(012) 80,000,000& * 2JHA 160,000
== 38,736
Al 121,264

ZOHQITH IS XIS ArMIE] (0] 2F) 90,000 85,000 5,000
L= 18,000
Al 72,000

307 2I2t01 & 90,000 85,000 5,000
& 18,000
Al 72,000

02 QItFAE X 90,000 85,000 5,000
O THIEXAS 90,000
O ZOHCITHIIS XIS AtEIE 29 (01 L) 90,000,000& * 1JH 24 90,000
o= 18,000
Al 72,000

T SAMEHSE(01Y) 95,000 90,000 5,000
& 17,000
Al 78,000

307 2I2t01H 95,000 90,000 5,000
& 17,000




SA:

S X240

B M=K S
Chol: RONOIAIL 2 XIS Chol 2 2
SN EY O (BH) - MR - Ba= Aol e =2t
307 212t01 & Al 78,000
02 QItFAE X 95,000 90,000 5,000
O SHIEXAY 95,000
O #3HEH2Y(01) 95,000,000& * 1J4 95,000
== 17,000
Al 78,000
ANAEONAMEEMHSL X2 (01F) 105,000 110,000 A5,000
= 21,000
Al 84,000
307 2I2t01 & 105,000 90,000 15,000
& 21,000
Al 84,000
02 QItFAE X 105,000 90,000 15,000
O THIEXAS 105,000
O HOHAAMEEHMEH2Y (0 105,000,000& = 1JH 24 105,000
o= 21,000
Al 84,000
MO BE=EXNA2F(01) 624,895 624,895 0
= 424,895
& 30,000
Al 170,000
307 2IZtol& 624,895 624,895 0




SN =X
2 ZojeI= XS

&l ZOHAAEL2E X (2 ®&)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
307 212t01 & = 424,895
& 30,000
Al 170,000
05 QIZtRIE 3 624,895 624,895 0
O SHIEXAS 624,895
O Zoese=x2 29(01) 624,895,000 * 1JH A 624,895
=z 424,895
== 30,000
Al 170,000
HOHCI=SRNAIESA=E 51,200 51,200 0
= 25,600
Al 25,600
307 2I2t01 & 51,200 51,200 0
& 25,600
Al 25,600
02 QItFAE X 51,200 51,200 0
O SHIZEXZAS 51,200
O Zf=XAESAR =S 1,280,000& * 409 51,200
& 25,600
Al 25,600
SSTHA NS XNAEHSH 131,600 131,000 600
& 62,500
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69,100

6,600

6,000

600

6,600,000& * 14!

6,600
6,600
6,600

6,000

600

307

H

Al

125,000
62,500
62,500

125,000

05

125,000,000& = 1082

in

Al

125,000
125,000
125,000
62,500
62,500

125,000

H

Al

14,400
10,080
4,320

14,400

307

H

Al

14,400
10,080
4,320

14,400

02

7,200,000& = 20H 2

H

14,400
14,400
14,400
10,080

14,400
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E
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SN HE - SI(E) - NRAY - BES 01l &k o e =2

Al 4,320

HOH XA & X & 249,978 114,773 135,205
L= 26,000
Al 223,978

WEADTHAHARERR 40,000 25,000 15,000
& 10,000
Al 30,000

307 QIztoIA 40,000 25,000 15,000
= 10,000
Al 30,000

02 QItFAE X 40,000 25,000 15,000
O SHIE XA 40,000
O WS AT off AtakS At 40,000,000& * 1JH= 40,000
= 10,000
Al 30,000

NMEOHALEHAANLANHHH2 G 45,000 35,000 10,000
& 11,250
Al 33,750

307 QIztolA 45,000 35,000 10,000
= 11,250
Al 33,750

02 QtFAE X 45,000 35,000 10,000




SN =X
2 ZojeI= XS

2l ZOHQUIESHMEIHE X & (chel: =&
SA-FB L SA(3) - MEAY - BLS 0 & o4 e B2
[0 SHIEXZ ALY 45,000
O NHZEMHQ Y HAAIL&HXH 45,000,000 * 102 45,000
= 11,250
Al 33,750
0N XIS AL TH & 87,790 54,773 33,017
201 et 33,150 5,850 27,300
01 AtR2teld] 33,150 5,850 27,300
(] ZEt===H] 6,500
O XS BEX-E 1,000& * 3,00004 3,000
O TN AT Ala &HIH MZ 100,000& = 259 2,500
O =8z 4= M 500& = 2,0000H 1,000
[ =&l 3,850
O Hofe g2 =& 7,000& = 5% * 110 3,850
O gxt= 22,800
O Hoe 2& JisZIIUa ot &S 400,000& * 3CH 1,200
O HOHAEHM AlE SO 300,000& * 64 * 128 21,600
202 O4dl 8,320 6,443 1,877
01 =UWoidl 8,320 6,443 1,877
O HoHel=2Xge =48 80,0008 * 4H = 2 * 83 5,120
O] ZOoH Al B =fol 20,000& » 4 » 40 3,200
301 LBt a=s 4,620 3,780 840
10 HAIAHIE &= 4,620 3,780 840
O d=&0el HEdA Ot 24 42,0008 = 90 3,780




SN =X
2 ZojeI= XS

2l ZOHQUIESHMEIHE X & (ctel &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
O ZOoHelDIsZoIte EAX B4 42,0002 » 20H 840
307 QIZtolA 41,700 38,700 3,000
02 CltFAEX 11,700 11,700 0
O AIZEe SXE2s AMHXJ(Z20SsHRY) 500,000& = 3¥ 1,500
O ZOHQIEHM MEHEZz2y 29 X2 1,300,000 * 2IHEHXl = 23] 5,200
(] ZHIR23 2| 5,000,000& = 1JH2 5,000
04 QIZHHAIE X 30,000 27,000 3,000
O AIZEO(EXZ0IZLHAI S) A XA 3,000,000& = 14l 3,000
(] ZoHerel & A XI& 15,000,000& * 14! 15,000
00 WSOl ALK 3,000,000& = 14l 3,000
(] sOtelgAL X2 3,000,000& = 14l 3,000
(1 XX ZH0H I & AFKI & 3,000,000& = 14l 3,000
O ZojeIR2 5 HAKIA 3,000,000 = 14 3,000
ZOHQIHOIAlE & =T At 67,688 0 67,688
201 LetEI] 1,188 0 1,188
02 2329gH| 1,188 0 1,188
O gassz 3,300% * 300HA + 123 1,188
401 Al&HI LS OHYI 20,000 0 20,000
01 Al&Hl 20,000 0 20,000
O ZOHAXESXH 25 HAHESIAIE FHI 20,000,000& * 14 20,000
405 RH&HFESHI 46,500 0 46,500
01 XML ESESFHS=HI 46,500 0 46,500
O ZOAXESSXH 2 BYES 46,500




SN =X
2 ZojeI= XS

Chel: OJOICHHI YT E T & (el x
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
O g&adEs| 550,000& * 300H 4 16,500
O Zoigl Exdo 1,000,000 * 3002 30,000
KN EZOHCIDI S Abdll 22l At 9,500 0 9,500
& 4,750
Al 4,750
307 gIz2told 9,500 0 9,500
& 4,750
Al 4,750
02 QItFAE X 9,500 0 9,500
O SHIEXAY 9,500
O XNEZOHIIIS At 22| At 9,500,000 = 1JH 2 9,500
= 4,750
Al 4,750
SV RIDNE=DNE-| 604,415 594,794 9,621
= 423,091
& 90,662
Al 90,662
HO BN =X (B SEZXNAAMEIA)AL 604,415 474,339 130,076
= 423,091
& 90,662
Al 90,662
307 2IZt0l& 604,415 470,000 134,415
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S X241t
o =Xsa
ZONQIHE K&

SN HE - SI(E) - NRAY - BES e =2
307 QIztoIA = 423,091
& 90,662
Al 90,662
05 QIZtREZ 604,415
0 202X A 604,415
O ZOoHI AL &S XI& (Bt 6,362,263% * 952 604,415
= 423,091
o= 90,662
Al 90,662
SXNAEZA222A(01Y) 44,181
&2 24,000
Al 20,181
SXNAESA2LA(01) 44,181
2 24,000
Al 20,181
301 LptBazg 44,181
= 24,000
Al 20,181
09 ZSUZIRRIAELZ 44,181
O SXAE SA2LB(15 44,181
O == 14,391
osd 79,9503 * 159 « 128 14,391

0
e
0

K0




D SXA AL
DY =EXEE
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D EXAESAZLRA(01L)

Ok

m

0
r
0

= A CERI(BIH) - NIRAY - A S 0l o e =
& 10,000
Al 4,391
O =S4l 4,000& » 159 * 248 14,880
& 10,000
Al 4,880
O wsHl 1,800& * 159 » 248 6,696
& 4,000
Al 2,696
O gt 2,800 » 15%H * 128 504
O IOl=tl 100,000& * 159 * 23| 3,000
O get=s 150,000& = 159 = 1& 2,250
O =29 50,000& * 15% = 1& 750
O tt3t 80,000& * 15%H = 1& 1,200
O M2 10,000& * 159 = 1= 150
O <3l 2,0008 + 159% » 123 360
Ol =XIKI& =T 476,899 476,899
= 252,000
& 86,155
Al 138,744
K= ZOHQIXI 2 HE(0]2F) 101,500 101,500
& 25,375
Al 76,125
307 QI2+0|H 101,500 101,500




FA:
X XH .
o Tt

ool

S X241t
o =Xsa
ZHOH QI = KI K & &HCH

SA - E S (3) - HIRA &k oy e =2
307 QIztoIA = 25,375
Al 76,125
02 QltFAEX 101,500
(O SHIE XA 101,500
O NEEFOHAXZHEHSS(01) 101,500,000& » 1JH 24 101,500
= 25,375
Al 76,125
ZOHotsHEX =2 360,000
= 252,000
= 54,000
Al 54,000
307 ©I2HO| & 360,000
= 252,000
L= 54,000
Al 54,000
02 QItAASX 360,000
O =0EXZAMZ 360,000
O HoHotsMax =z 2,400,000& = 1509 360,000
= 252,000
= 54,000
Al 54,000
sl ssaEdRAESITH 10,800

m
0
F
o




FA:
X XH .
o Tt

ool

S X241t
o =Xsa
ZHOH QI = KI K & &HCH

SN BB O (SH) - MRAY - HES Akl e =
SO sS4 RAE SR = 5,400
Al 5,400
307 2IZtol& 10,800
L= 5,400
Al 5,400
02 QltFAEX 10,800
0 SHIEXZAMZ 10,800
O sl S 4ERRAESIR 3,600,000& = 39 10,800
& 5,400
Al 5,400
Exstl MASHHAAZSHI XA 4,599
& 1,380
Al 3,219
301 et 4= 4,599
L= 1,380
Al 3,219
01 A2 EH =03 4,599
(0 SHIEXZAMZ 4,599
O S8t HASHHA2ZESHHI X 511,000& = 99¥ 4,599
= 1,380
Al 3,219
MOt QIS XA 21,396,773

m
0
F
o
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0
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0

CERI(BIH) - NIRAY - A S 0l o e =

= 14,631,239
Jl 4,600
= 477,500
& 1,110,751
Al 5,172,683

Z2Y 29 ¢ 22 1,004,700 998,600 6,100
= 320,000
& 174,523
Al 510,177

gY 2F (0¥ 591,700 585,600 6,100
= 310,000
L= 62,985
Al 218,715

307 gI2told 591,700 585,600 6,100
= 310,000
& 62,985
Al 218,715

01 2+ =2d 591,700 585,600 6,100
[ SHIEX 591,700
O Z&2H 591,700,000& = 14 591,700
& 310,000
& 62,985
Al 218,715




S ZXSMD
M TWOHE QI = XA
al

Chelr ARY 29 9 B el H el
SN EY O (BH) - MR - Ba= 01l &k o e =2t

Z2Y SEHZH|(01) 390,000 390,000
& 108,538
Al 281,462

307 2I2t0lH 390,000 390,000
& 108,538
Al 281,462

01 g2 =4l 390,000 390,000
0 SHIEXZAS 390,000
O Z2Y SEgd=Y| 390,000,000 * 14 390,000
& 108,538
Al 281,462

d2Y SHFAIS(012) 23,000 23,000
= 10,000
= 3,000
Al 10,000

307 gI2told 23,000 23,000
= 10,000
& 3,000
Al 10,000

02 QUAHBASE X 23,000 23,000
[ SHIEXZAS 23,000
O d=Y 43 A (01Y) 23,000,000& * 102 23,000




S ZXSMD
M TWOHE QI = XA
al

ool ¥R 29 U el (sl &
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
= 10,000
T 3,000
Al 10,000
d2Y AFs L BAY 639,000 668,500 29,500
d2g dxs 2 B 639,000 668,500 A 29,500
201 LEt2HAH| 8,000 3,500 4,500
01 AtR22ld] 8,000 3,500 4,500
] dx= 8,000
O 2E 24A H2E 2dx= 8,000,000 = 14 8,000
305 HHat2s 5,000 4,000 1,000
01 HHAZE 5,000 4,000 1,000
O 24 329 RUER HiA=2 S 5,000,000 = 14 5,000
307 QIZ2t0| A 66,000 61,000 5,000
01 o=d32=Hl 11,000 11,000 0
O dz4 A2l 7 K& 500,000& * 220 A 11,000
02 QIZHEAMNEX 55,000 50,000 5,000
O 329 M2t 27,500,000& » 29 55,000
402 QI2EXE20lN 560,000 600, 000 40,000
01 QIZX2BEX 560,000 600,000 240,000
[ 328 d=x 560,000
O 3z M= 60,000,000& * 6IH A 360,000
O &dzg H.ex 20,000,000& = 10002 200,000
SOl el AtY K& 541,030 635,310 94,280




SN SXe 40
2 Wt = XA
Sel: ColdXtel Ay X (&9 &d)
SA BB S(S) - NRAY - BES of & o S DB
ColgdiielAY K& = 258,765
= 84,729
Al 197,536
coliiel At 534,030 629,310 95,280
= 258,765
= 82,629
Al 192,636
101 1A 4] 303,040 368,110 265,070
= 151,520
= 45,456
Al 106,064
10 JIZN22AHsE+ 303,040 368,110 65,070
[0 I DETAY 303,040
O LodXielAd(B4E) 280,000,000& * 1Al 280,000
= 140,000
S 42,000
Al 98,000
O LolgiielArg M4HEE = 15,000,000& = 14! 15,000
= 7,500
== 2,250
Al 5,250
O odiie/Atg =dDj2dgel s 8,040,000& * 1& 8,040
= 4,020




S =X
M MOt S XA
crel ol T2lAe X (ol a R
SA-FB L SA(3) - MEAY - BLS 0 &2 e B2
S 1,206
Al 2,814
202 O4dl 10,720 9,000 1,720
= 5,360
== 1,608
Al 3,752
01 =2UWodbl 10,720 9,000 1,720
0 =10E8XZAMY 10,720
O LolgRel At =& | 10,000& * 4H * 2400 * 73] 6,720
= 3,360
= 1,008
Al 2,352
O ColgNel AL DR 50 &4 80,0002 » 252 » 23] 4,000
= 2,000
< 600
Al 1,400
206 M =4l 22,000 25,700 A3,700
2 11,000
3 3,300
Al 7,700
01 =4l 22,000 25,700 23,700
O =210EXZAMY 22,000
O olgdiielAte HHEHl S 22,000,000& = 14! 22,000
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0
F
o

CESI(SIH) - HISAY - BYS Atol e =32t

= 11,000
T 3,300
Al 7,700

012t 198,270 226,500 A28,230
= 90,885
== 32,265
Al 75,120

198,270 226,500 A28,230
181,770
QIR E S (oS X & 150,770,000& = 1JH A 150,770
= 75,385
o= 22,615
Al 52,770
Lol QI2HRE 2 (=213 X & 31,000,000 = 1JHA 31,000
= 15,500
T 4,650
Al 10,850
16,500
Ol X2l At 16,500,000& * 1JH2 16,500
o= 5,000
Al 11,500

7,000 6,000 1,000
& 2,100




A SX?4n
2 Wt = XA
el Sl Xtel Aty XI# (el &)
SA-EH-SRABA) - NEAMNY - BES Off &F K gggf; HwsZ
AU SME 29 Al 4,900
307 2120l A 7,000 6,000 1,000
& 2,100
Al 4,900
02 QZrFAAMEX 7,000 6,000 1,000
[ SHIEXZAY 7,000
O ABNEASAH2S 7,000,000 = 14 7,000
< 2,100
Al 4,900
oIS X# 160, 150 118,538 41,612
S 900
Al 159,250
Lolps 23 3,000 3,000 0
S 900
Al 2,100
307 2120l & 3,000 3,000 0
S 900
Al 2,100
02 QlzZtHAEx 3,000 3,000 0
(] SHIEXZAY 3,000
O Lol Wa=23H| 3,000,000& = 1002 3,000
S 900




A =Xl
M MOt S XA
ool LoloIEE KR (el m el
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
Al 2,100
ColotssEs K& 157,150 115,538 41,612
201 LBt 3| 5,850 2,200 3,650
01 AtR2teld 5,850 2,200 3,650
[ Let=2H] 2,000
O LQl2tEHAIE Alat &I M= 100,000& = 20 2,000
I=1=i:] 3,850
O Q=R & FAHR =& 7,000 * 5% * 110 3,850
202 O4dl 8,800 8,338 462
01 =UW0tl 8,800 8,338 462
0 =X & HAESE =8 80,000& * 59 » 2& » 113 8,800
301 LBt as 4,200 4,700 A500
10 HAIAHIEAS 4,200 4,700 £500
0 =e=2Xus & o8 H#ILAL 24 7,000& = 1008 * 23l 1,400
[0 Sl AZNE Y OIS0l WKEILA g4 7,000& » 2008 * 23l 2,800
307 QIztoIA 138,300 100,300 38,000
02 QItFAE X 60,300 30,300 30,000
O Z2Y T2 29 30,000,000& * 14l 30,000
O HOoIEZUa #IHXI&A 42,0003 * 308 * 53l 6,300
O Lol 2H(1L) 5,000,000& = 14l 5,000
[0 AHOEZ2 294 XI& 500,000& * 18IHE 9,000
[ et=olel AKX = HsH2 S| 10,000,000& * 1JHA 10,000
04 GCIZtHALE X 78,000 70,000 8.000
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0 =olH 30,000,000& = 1A 30,000
[ f1et3 30,000,000& = 1A 30,000
O 3z22 ¢ 10,000,000& * 14l 10,000
] Loloyd * 14 8,000
oA A 104,582 72,830 31,752
= 500
& 16,867
Al 87,215
elA2 AZ(0l 99,582 70,330 29,252
= 500
& 15,367
Al 83,715
206 M=l 10,000 0 10,000
01 =4l 10,000 0 10,000
O Lo8s8XxD| XNIAS 200,000& * 50CH 10,000
307 QIztoIA 89,582 70,330 19,252
2 500
& 15,367
Al 73,715
01 A= 89,582 70,330 19,252
O &2 89,582
O kol 1,820,000 * 14l 1,820
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Al 73,135
A& SHE 2¢(01Y) 5,000 2,500 2,500
= 1,500
Al 3,500
307 PI2HOIF 5,000 2,500 2,500
= 1,500
Al 3,500
NIEEEEET 5,000 2,500 2,500
O XA SHE 2 (01Y) 5,000,008 * 14! 5,000
= 1,500
Al 3,500
HAS THIH-ol ME ol 731,158 824,936 £93,778
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| 4,600
2 84,000
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= 3,300
Al 18,700
307 LI2t0IF 40,000 40,000 0
2 8,000
= 3,300
Al 18,700
02 PANANBE 40,000 40,000 0
O SHREAIY 40,000
O HASTHIHE O AAH S 40,000,0008 * 14! 40,000
= 18,000
= 3,300
Al 18,700
A2AY L2IAANA(01Y) 150,000 120,000 30,000
2 25,000
= 15,000
Al 110,000
307 LI2H0IF 150,000 120,000 30,000
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Al 110,000
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& 7,589
71,411
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= 41,000
L= 7,589
71,411

02 QItAAEX 120,000 120,000
O SHIEXZAMZ 120,000
O MItLQIEXHE 249 (0] 120,000,000& * 14! 120,000
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= 7,589
71,411
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307 Q12to| A 300,550 402,095 A 101,545
= 210,385
== 45,082
Al 45,083
05 oItz 300,550 402,095 A101,545
[ 2ODEXAIS 300,550
O SHEOIMET T AL DFAAE 300,550,000 * 14 300,550
= 210,385
T 45,082
Al 45,083
LoIs20l N3 99,008 127,795 N28,787
= 69,306
= 8,911
Al 20,791
307 QIZ2to| A 99,008 127,795 AN28,787
= 69,306
= 8,911
Al 20,791
05 oIteezd 99,008 127,795 N28,787
[0 2ODEXAIY 99,008
O Lo=80|8t™H XS 99,008,000& * 14 99,008
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& 3,400
Al 9,000
307 QI2H0I ™ 12,400
= 3,400
Al 9,000
01 gL =l 12,400
O SHIEXAY 12,400
O RYEHLSZHHEAS L 12,400,000& * 1 12,400
== 3,400
Al 9,000
KO EDIZ &AL 9,200
| 4,600
& 1,380
Al 3,220
307 21Zt0l& 9,200
| 4,600
& 1,380
Al 3,220
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01 Az L= 9,200
O JIs2X&Ad 9,200
O XIHEINEBE ALY 9,200,000 = 14 9,200
| 4,600
& 1,380
Al 3,220
Jl=ge3a XA 17,846,153
= 14,092,783
& 749,070
Al 3,004,300
JzLgdzad XN 17,846,153
= 14,092,783
= 749,070
Al 3,004,300
201 B3| 8,020
01 AtR2teldl 8,020
O JI=gdoa AF 2 ZAMA F0 1002 = 5,00000 * 53 2,500
08 89 H& 120,000 = 2301 * 23| 5,520
307 gI2told 17,838, 133
= 14,092,783
& 749,070
Al 2,996,280
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01 =L RZH] 17,838,133 11,705,256 6,132,877
(] =10EXZAMH 17,838,133
O JI=g8u=X& 17,838, 133,000& * 14! 17,838,133
= 14,092,783
S 749,070
Al 2,996,280
LosEgEX2 23 370,000 370,000 0
= 73,000
Al 297,000
CoEE=ENs2 8 2ZHI(012) 370,000 370,000 0
= 73,000
Al 297,000
307 QlZtold 370,000 370,000 0
= 73,000
Al 297,000
05 QIRIE= 370,000 370,000 0
O osg=s2 /&238(0] 370,000,000& * 14 370,000
= 73,000
Al 297,000
Lo Z=RAE 2SN 4,675,788 3,722,407 953,381
= 1,854,122
Al 2,821,666
Lol Z=EXAE 2SXA 4,675,788 3,722,407 953,381
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& 1,754,758
Al 2,642,137
301 LEEAZ 4,100,000 0 4,100,000
& 1,640,000
Al 2,460,000
01 ASI2EE=63 4,100,000 0 4,100,000
O SHIEXZAS 4,100,000
O LoAE2Y X2 (0]) 4,100,000,000& * 14! 4,100,000
o= 1,640,000
Al 2,460,000
307 gIz2told 296,895 3,494,187 23,197,292
& 114,758
Al 182,137
02 Q&SR 296,895 38,500 258,395
O sLLosXHg 29| 10,000,000& * 14 10,000
O SHIEXAY 286,895
O LoAE2Y(0I)S=AN XA 286,895,000& * 14 286,895
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ol AT H 9 X (sl &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
O HdIRFE S4lt] 7,000& = 3% * 90< 1,890
] Xz 1,500
O Xl (ELHL23ME2) XX 500,000& = 32 1,500
202 O4Hl 4,400 5,155 AT55
01 =3LHHbI 4,400 5,155 AT55
0 Hd=2XNSER =& 20,000& * 294 » 110 4,400
301 LBt as 12,540 11,370 1,170
10 HAIAHIEAS 12,540 11,370 1,170
O HEXEX 8BS IS0 45,0008 * 509 2,250
O M= ial &ItA Kl 45,0003 * 169Y 720
O &M wsHl 45,0003 * 429 1,890
[ SRHHELE M2 EItKbI 45,0003 = 20 900
O 6 A& HIHA 04l 10,000& * 509 500
[ == AL DAL 04 25,0003 * 429 1,050
O e S SEAHALE DL 45,0003 » 5% » 16EHX| 3,600
O HEZMEES =H 100,000 * 2A12F % 53] 1,000
O delXln=s &ItAt 7,000& = 30& * 32 630
307 2IZ2tol 12,000 12,000 0
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Hade STAY 8,400 5,000 3,400
Jl 1,500
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MNASHAEI =W s 1,000
301 et 4 1,000 0 1,000
& 1,000
01 AtI2E 1,000 0 1,000
[0 SHIEXZAY 1,000
O MAE0 1,000,000& = 14! 1,000
S 1,000
bots & 274,241 256,816 17,425
= 154,161
S 51,493
68,587
Ct23ots K& 4,150 256,816 A252,666
301 Lertgal 4,150 1,350 2,800
10 S AHAHI 4,150 1,350 2,800
0 =22 45,0008 » 209H 900
O th=22h ? @A &I I 45,0008 = 10H 450
O th=23tot 7,000& = 100& = 43 2,800
2SN H2Y 70,000 0 70,000
= 49,000
= 10,500
10,500
307 2120l A 70,000 0 70,000
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S A L EERI(BI) - MR AL &k oy e =2
307 QIztoIA = 49,000
& 10,500
Al 10,500
02 QltHAEX 70,000
(] =HIE XA 70,000
O U2IEXddH2Y 70,000,000& = 14l 70,000
= 49,000
< 10,500
Al 10,500
2SS 2 USAME2 150,231
= 105, 161
= 22,535
Al 22,535
307 QIZtolA 150,231
= 105, 161
= 22,535
Al 22,535
02 QlZtFaEX 150,231
(] =HIE XA 150,231
O YZusAE2H 150,231,000& * 1JHA 150,231
= 105, 161
= 22,535
Al 22,535
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307 212

H

Al
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1,500
3,500

5,000

02 @2

5,000,000& = 14l

H

Al

5,000
5,000
5,000
1,500
3,500

5,000

H

Al

39,860
11,958
27,902

39,860

307 212
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Al

39,860
11,958
27,902

39,860
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39,860
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27,902
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ChEStS0IFS M EHXZ A S e S| 5,000 0 5,000
& 5,000
307 2IZtol& 5,000 0 5,000
= 5,000
02 QItFAE X 5,000 0 5,000
O SHIEXZAS 5,000
O DIFSUHEX B ACHSH M E S| 5,000,000& * 1A 5,000
& 5,000
R0t EFALY 11,157,724 9,730,585 1,427,139
= 5,102,118
& 1,711,882
Al 4,343,724
IR0t B8 XN 7,250,160 5,108,872 2,141,288
= 3,565,480
& 1,103,484
Al 2,581,196
HArs AAsSESEE 5,340,880 3,536,005 1,804,875
= 2,667,240
& 800,172
Al 1,873,468
202 Oidl 6,400 6,000 400
01 =LHAHI 6,400 6,000 400
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SN EY O (BH) - MR - Ba= Aol e =2t
0 292 F4 80,000& * 5% * 16 6,400
307 2IZtol& 5,334,480 3,530,005 1,804,475
= 2,667,240
& 800,172
Al 1,867,068
02 BIZHEANEZX 5,334,480 3,530,005 1,804,475
O =202 XA 5,334,480
O HasEXsSE 3,720,000 = 1,4349H 5,334,480
= 2,667,240
& 800,172
Al 1,867,068
QI5ANIOL EsE 631,784 661,363 AN29,579
= 315,892
= 94,768
Al 221,124
307 gIz2told 631,784 661,363 A29,579
= 315,892
& 94,768
Al 221,124
02 UABAE X 631,784 661,363 29,579
O =202 XA 631,784
O Ct5MIOtR A2 2,092,000& = 302Y 631,784
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= 94,768
Al 221,124

ShHE B2 476,900 220,391 256,509
= 238,450
& 71,535
Al 166,915

307 QIztoIA 476,900 220,391 256,509
= 238,450
& 71,535
Al 166,915

02 QltHAEX 476,900 220,391 256,509
0 202 XAY 476,900
O FHHEEZ 1,900,000& * 251 476,900
= 238,450
< 71,535
Al 166,915

HOHo RAEEE 687,796 553,595 134,201
= 343,898
= 103, 169
Al 240,729

307 QIztoI A 687,796 553,595 134,201
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ESAE SALL o1Adl X& = 475,004
Al 1,314,021

QIZE S WAL XS0 & I 197,973 127,800 70,173
= 59,392
Al 138,581

301 LEEAZ 197,973 0 197,973
& 59,392
Al 138,581

01 ASI2EE=63 197,973 0 197,973
O SHIEXZAS 197,973
O QIZIESAE E=AL HRIM&HI 773,332& * 256 197,973
o= 59,392
Al 138,581

Es=sAMHA 2,665,144 2,363,740 301,404
= 1,332,572
& 399,772
Al 932,800

307 2IZtol& 2,665,144 2,363,740 301,404
= 1,332,572
& 399,772
Al 932,800

02 BIZHEANE X 2,665, 144 2,363,740 301,404
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O =02 XAY 2,665, 144
O BsssAtdlA 16,868,000& * 158%H 2,665,144
= 1,332,572
= 399,772
Al 932,800
HOHOIESAIEEANNEE S 31,680 13,680
& 15,840
Al 15,840
301 2et2 4 s 31,680 31,680
& 15,840
Al 15,840
01 AE2EEH=06Z3 31,680 31,680
0 SHIEXZAMZ 31,680
O ZOotE=EAE SAX E8H 812,307& * 39Y¥ 31,680
= 15,840
Al 15,840
EFAE FHAFE Q2] 16,800 16,800
307 2IZtol& 16,800 16,800
02 QltFAEX 16,800 16,800
O S2LHE0lE FHALE ezl 1,400,000& * 123 16,800
EFSANESAMN EHsE 210,000 210,000
301 et 4 s 210,000 210,000
01 AMEHEE=SG6S3 210,000 210,000
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[0 ESAESAIA &ed2xE 50,000& = 350Y = 128 210,000

BEA4E &5 2 3EHd 236,190 617,200 A 381,010
= 80,595
& 28,679
Al 126,916

SBFAE BEHA 15,000 122,000 A 107,000
= 4,500
Al 10,500

307 Qlz2to| A 15,000 0 15,000
== 4,500
Al 10,500

02 0I2tZAYE X 15,000 0 15,000
[ SHIEXZ AL 15,000
O BEAE &FMEH X3 1,000,000& * 15044 15,000
o= 4,500
Al 10,500

EFAE JisBd 161,190 2,000 159, 190
= 80,595
= 24,179
Al 56,416

402 QI2EXE20|N 161, 190 2,000 159, 190
= 80,595
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SN RN
HE 2L AU (SKL A4
Jl2Z | oo dA
SN EY O (BH) - MR - Ba= Aol e =2t
SAESI EYH 105,000& = 1CH * 33 315
D2lHI &8 2 EY 350,000& = 504 * 33 5,250
ZetZelell EY 1,000,000& * 23| 2,000
HHARIID| SN2+l 100,000& = 7CH = 23l 1,400
O ARESE 7Y 500,000& * 82l 4,000
O 32X 2= 14,0008 * 4& * 12& 672
O Y2EAHAN L AZsANE S0 300,000 * 103] 3,000
O g2ad 2O A4 2 50,000& * 102l 500
O MRAE2E M7 500,000& * 63l 3,000
02 =229l 1,350 2,780 21,430
0 2222 2 HAl 1,350
O 2%Z A7 B2 2708 * 5,000% 1,350
202 04| 5,200 4,548 652
01 2LHAHI 5,200 4,548 652
0 fFMA2ISS0HYI 20,000& * 269 = 10 5,200
405 KHaHF SHI 1,200 0 1,200
01 TR ESFHSHI 1,200 0 1,200
O S A Ik 0| 700,000& = 1CH 700
O AMSRa EAD] 500,000& = 1CH 500
HRES(SX ) 40,000 758,000 A718,000
LHEHH K= 40,000 20,000 20,000
LIS HeH (S X414 40,000 20,000 20,000
702 JI2HE= 40,000 20,000 20,000
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